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s e YA — if the height of the inverted nM> is seven and
a half 0’1o he is 7wd

Overview

'DIn is continuing his explanation that the 773977 of 7799 ¥ 1X93 is referring to a
N> which is Aww 217 so that it can have the status of a >"717 as it is landing.
What needs clarification; since the n7112 will ultimately land on the ground,
and then it will not be a >"77, but rather it will be resting in the 7"77, so why
1s he not 21. It seems that he should be 211 for throwing the n°M> from a
"I to an"an.

'3 7 mxonnn nanwsT — For when the walls of the N2 come within
three o°nov from the ground

2T 7aY TP MR ow we — there are mxnn that are ten 2°mdw high,
excluding the thickness of the base (in this inverted M the ‘base’ is on top).
Once this inverted N> is within three 0°ndY of the ground we apply the rule of 7925, and
even if the 0»7W of the nmM> is a fifth (or s03) of a mov thick®, there is still more than

seven 0°1oY of proper mxmn in the walls of the N3 to combine with the three onov of
712% NN to provide a height of ten o noY.

75797 NI KT 99 — and the 172 is then considered a 9''5719, for it has mxonn
7wy and it is AwWWw 7277, which gives it the required area of 7"v7.

'0)n now deals with the question why do we not consider that it travels from the >"77 to
the 7" as it descends -

YW NIR2 710 2w — and the N2 is deemed to be (completely) at rest

(already) at that moment. When it is in the process of landing and it reached to
within three omov from the ground, we consider it to be completely at rest’, and its
subsequent descent until it finally lands, is of no significance.

2910 1R 2w — and subsequently he will not be 21

TORY D531 39% MRYT 23 Y X — even though that immediately after it
reached to within three 2°rov it will continue its descent and will fall to the
ground

777197 NI AR Buay — and it will lose its status as a 5519, for once it reaches
the ground it is only seven and a half 2°r15v high

" The "W and the 0"17n see this MdOIN as a continuation of the previous X932 71"7 '01N and not a separate
‘0.

* Which we cannot include to be part of these ten 2°1idu, as per the previous oM.

? The base of the N> might be thicker than the fifth of a nov, that the ('%77) 72r7 7"1ina 1" allowed for the
walls.

* See (%) 7am 7"7 'oan.

> That are 17%71 219 71X, See previous x93 717 '0IN.

% Because 2°mdw 'va Mo is considered XN XyIX? (it is part of the [thickness of the] ground).
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%297 nmwe2 nnd nwyl — and it is considered resting in a 2'"'n"a,
nevertheless’ he is w9, since that at the moment that it came within three 2’90 of the
ground it is considered as if it rested on the ground, and at that moment it was a *"777. The
fact that it continues to fall, only affects its mw" status that it changes from a >"771 to a
3'"79, but it does not affect its ‘1R’ status. It was 11 from the time it came within three
o'nov and onwards up to and including the time that it came to an actual rest®.

mooIn will now conclude what he asserted in 7893 71"7 that the statement of 7°9 SV 1893 is
referring to a N3 that is *mww ann

"y am IR 9aR — however if the N> was not 'Y a7 and therefore did not have
the area of 7"v7 required for a "1

297 7MY 'T Y99BR — then even if the N> was 7312 't he would be 29n
MIomRa XYR 7127 3308 K97 — for we do not apply the 197 of 712% to extend
the nx°nn of the nAM> an additional three '’onov, unless there are valid
Unrgomm

'7 277 2w wOw> KOR 7 XY mxonay — and there cannot be valid mxonn
unless there is an airspace area between the mx°nn which is wide o°1dv 7"V
"7 217 19Rw> 22X — however if there is no airspace wide onov 7"v7

N#5YT 29XBR ARWS K7 077 — it is like any other objects'?, that have no valid
menn

7I2% 332K X2 — and we do not say T12% by these objects, that have no valid
mxsnn.

Summary
When the inverted nO1> which 1s Oww anM 7xnm avaw 12) descends to

within three o°nov from the ground, two rules apply to it; 1) T12% n7n to
extend the walls and height of the n7112 another three 2°19v to accord it the
status of a "7 [since the MX 1 encompass an area of 2°1d9v 7"¥7 and there
will be " 23 M7 AR MR Mxonna], and 2) It is considered as if it came to a
complete landing and is considered to be at rest on the ground; any
subsequent descent is of no consequence to the concept of AMiT or nRXT
mwa? Mwan..

7 Even though it appears to be traveling from a *"71 (when it descended to within three 2°nov from the
ground) to a 1"717 (once it landed on the ground proper).

® It may be compared as if it landed in a >"717, and then the walls (of the *"77) crumpled to less than ten
o°mon.

? As opposed to 7iX93 71"72 *"w7 who maintains that *Xp " 7277 APRK.

'S0 we should consider as if (the top of) the N> landed in a 7w oPn as "W explains our XA,

' See previous 'o1n.

"2 '91n is broadening the concept mentioned in the previous '01n that we do not say 7122 unless there are
(072w 727) 7wy m¥onn as far as the height is concerned. Here '01n adds that the m¥°ni» must also
encompass an area of 2°’nov 7"¥7 in order to say T135.
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Thinking it over
1. What two 2°17 apply once an object is within three 2’190 from the ground.

2. Explain the difference between these two 2°1°7 and illustrate where we
apply only one and not the other.

3. What are the two restrictions concerning 712 that we learn from these
'01n?

4. How may we argue that even if we accept one restriction (#3), we may not
accept the other?



